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M.A. IN GENDER AND DEVELOPMENT 
STUDIES (MAGD) 

Term-End Examination 

MGSE-009 : GENDER ISSUES IN WORK 
EMPLOYMENT. AND PRODUCTIVITY 

Time : 3 Hours] 	 [Maximum Marks : 100 

Note: Attempt any five questions. All questions carry 

equal marks. 

1. Why do majority of women work in informal sector 

in India? How are they positioned in the Global 

Capitalist economy as informal sector Workers? 

Discuss critically. 	 20 

2. "Work is not a gender neutral space." Discuss this 

statement in the light of decreasing rate of labour 

participation of women in India. 	 20 

3. What constituents unpaid labour? Which part of 

women's labour is entirely unpaid and why? 

Discuss. 	 20 

4 	'Women and men commonly prefer different tasks 

and work in different sectors." Discuss this 

statement from a theoretical perspective. 	20 
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5. What is vertical segregation? Explain for the 

perspectives of women's work. 	 20 

6. Why do ydu think there is a considerable 'wage gap' 

adversely affecting women even today? Discuss it in 

the context of the Indian economy. 	 20 

T. 	Discuss the emergence of 'Social Security' in the 

informal sector of Indian economy. Give suitable 

examples. 	 20 

8. 	Write short notes on any four  of the following: 

4x5=20 

(a) Women's Rights 

(b) Gender discriminities 

(c) Bounded labour 

(d) Leisure 

(e) SEZ (Special Economic Zones) 
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